Ratio to CDF

{(1/Nevents) d I\Ich’/dr] , Ao}

N

=
o

=
o

=
IN

=
N

0.8

0.6

0.4

0.2

0.5

(P [GeV]}

300 GeV ppbar Underlying Event
B T I T I T I T I T | I I I I T | T I T I T I T I T |_
— . ]
3 <N_> Vs p'Tea (b, >0.5GeV, | <0.8) :
— m CDF —]
~ & Pythia 6.428 346 ~
- Pythia 6.428 347 —
- Pythia 6.428 348 -
— Pythia 6.428 349 e
~ —A— Pythia 6.428 370 .
B | | [ | | | | L | [ []
: T T T T | T T T T | T T T |:
: I -
| [ 5 |

" 1 1 1 1 " | " 1 1 1 1 | " 1 1 " 1 " |
0 5 10 15

Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


